National 5 Accounting

Candidate 1

Task 1 - Value View

Assignment 2024

Candidate Evidence (annotated)

4 2 £ £
5 |Sales Revenue 548,000
6 |Sales Retums 0
7 |Net Sales Revenue 548,000
&

9 |Less Cost of Sales

10 |Opening Inventory 4,800

11 |Purchases 249,000

12 {Purchase Returns 0| 249,000

13 253,800( +4

14 |Add Carrige In 2,800

15 256,600

16 |Less Closing Inventory 10,000 +4

17 |Cost of Sales 246,600
18 |Gross Profit 301,400
19

20 {Less Expenses

21 |Advertising v 5,500

22 |Electricity v, 14,350 +v4

23 |Finance Costs 7,500

24 |Insurance 13,2001 +4

25 |Salaries vy 64,750

26 |Provision of Deprecation on Factory Machinery 16,000 %"

27 |Credtion of Deprecation for Bad Debis o 7,500 128,800
28 172,600
29 |Add Other Income

30 |Discount Received 12,000
31 [Profit for the Year 184,600

11 out of 13
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 1 - Formula View

4 £ £ £
5 |=DatalA7 =DatalB7
6 |Sales Returns 0
7 |Net Sales Revenue =p5-Dé
4
9 |Less Cost of Sales
10 |Opening nventory =Daialbé
11 |=Datal A =DatalBs8
12 |Purchase Returns 0 =B11-B12
13 =SUM(C10:C12)
14 |Add Carrige In =DatalB20
15 =SUM([C13:C14)
16 |Less Closing Inventory 10000
17 [Cost of Sales =C15-Clé
18 | Gross Profit =07-017
19
20 |Less Expenses
21 [=DatalAl12 =DafalB12+200
22 |=DatalAls =DatalB15-350
23 |=DatalAlé =DafalBls
24 |=DatalAl18 =DaialB18
25 |=DatalAl1? =DatalB19
26 |Provision of Deprecation on Factory Mac =DatalB9*0.1
27 |Creation of Deprecation for Bod Debis =DatalB11*0.75 =SUM(C21:C27)
28 =D18-027
29 |Add Other Income
a0 |=DatalAl4 =DatatB14
31 |Profit for the Year =5Um(D28:030)
v v/
L A

2 out of 2
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Value View

A B C

1 |PITCH UP

2

3 |RATIO CALCULATIONS FOR YEAR 3

4

5 |Calculate the following ratios/figures using the data contained in 1l
6

7

8 |Gross Profit Ratio 55|% V4

9

10 |Average Inventory £7,400| V4

1

12 [Rate of Inventory Turnover 33|times v4
13 |
14 |Trade Payables Payment Period 22|days V41 V4
15 |
16 [Trade Receivables Collection Period 3{days
17

18 |Current Assets £17,450[ 0 [CI|
19

20 |Current Liabilities £14,600( Vi V4
21

22 |Current Rafio 1.20|:1

23

24 |Acid Test Ratio 17449[:1 [C| [C]
13 out of 14
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National 5 Accounting

Task 2 - Formula View

Assignment 2024

Candidate Evidence (annotated)

2 out of 4

SQA | www.understandingstandards.org.uk

A B
1 |FITCH UP
2
3 IRATIO CALCULATIONS FOR YEAR 3
4
5 (Calculale the following raliosfigures using The dafa confaing
&
T
& |Gross Profit BEofio =lncomelD18AncomaiD5=100
9
10 |Average Inventory ={incomelC10+IncomelCl4)/2 Va1F1
11
12 [Rate of Inventory Tumover =ncomelD ! 7/RatioslB10
13
14 |Trade Payables Payment Perod =DatalB21/(DatalBE*0.8]* 365
1%
16 [Trade Receivaties Colleciion Pedod =DatalBl 1/DotalB7*0.4*345 0F2
17 X
18 |Cument Assefs =B+ [DatalB] 1-IncomalC 7 )+350
19 v1F3
20 (Current Liobiies =0atalB2] +DatalB ] 34+200
21
22 |[Cwerent Bofio =RI8/BZ0
23 OFa
24 |Acld Test Batio =R18-IncomsalC 1 &/Ratics|B20

X
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National 5 Accounting

Assignment 2024 Candidate Evidence (annotated)

Task 3 - Value View

PART A

Ratio Year2 Year3 |One possible reason for difference in each ratio

Current Rafio 2101 1.20(:1 One reason that there is a possible difference in the ratio
is that the selling price has decreased. 0

Cross Profit Ratio 40|% 55(% One reason that there is a possible difference in the ratio
is that the selling price has increased. v/

Trade Receivables Collection 30|days 3|days |One reason that there is a possible difference In the rafio

Period

is that they need to tighten credit conirol procedures in
the business. _/,

PART B

Ratio

One way of improving each ratio

Rate of Inventory Turnover

One way of improving Rate of Inventory turnover is fo hold less inventory.

v/

Acid Test Ratio

One way to improve Acid Test Ralio is to offer discounts and special offers on
certain goods fo increase the amounts sold.
1

Trade Payables Payment Period

One way o improve Trade Payables Payment Period is o lecse instead of buy
certain Non-Current Assets

4 out of 6
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National 5 Accounting

Task 4 - Value View

Assignment 2024

Candidate Evidence (annotated)

A B C D E

1 |PITCH UP

2 |PROFIT CALCULATION

3 |\YEAR4

4

5 |Maximum machine hours available 23,000

6

7 Pod Tunnel Hike

8 |Machine hours per unit 2.5 3 2

9 [Selling price per unit £75 £80 £65

10 |[Maximum demand (units) 3,600 3,300 2,800

11 |Variable cost per unit £35 £44 £30

12

13 Pod Tunnel Hike Total

14 |Machine hours required to meet

15 |maximum demand 1,440 1,100 1,400 3,940

16 Vi

17 | Contribution per unit £40,00 £36.00 £35.00

18 v

19 |Contribution per machine hour £16.00 £12.00 £17.50

20

21 |Order of priority 2 3 1

2

23 [Machine hours to be used to

24 |[maximise profits 1,440 20,160 1,400 23,000

=

26 |Units to be produced 576 6,720 700

27 |

28 |Total contribution £14 £187 £20 £26,940"

29

30 |Fixed cosfs £12,130

31

32 [Maximum profit £39,070
4 out of 8
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)
Task 4 - Formula View
A B C o E
i |PITCH UP
2 |PROFIT CALCULATION
3 |\YEAR 4
4
5 |Maximum machine howrs availablg 23000
&
7 Pod Tunne| Hike
& |Machine hours per unit 2.5 3 2
3 |3elling price per unit 75 80 65
10 |Maximum demand {uniis) 3400 3300 2800
11 |Variable cost per unit 35 44 30
12
13 Pod Tunnel Hike Total
14 |Machine houwrs required to meet
15 |maximum demand =B10/B8 =C10/C8 =D10/D8 =5UM(B15:D15)
16
17 |Conftribution per unit =B%-B11 =C%-C11 =0%-D11 v
18
19 {Confribution per machine hour =B17/B8 =C17/C8 =D17/D8
20
21 |Order of pricrity 2 3 1
22
23 |[Machine hours to be used to
24 |maximise profits =B15 =E24-[D24+B24) |=D15 =B5
25
26 |Units to be produced =B24/B8 =C24fC8 =D24/D8
27
28 |Total confribution =B2&/B17 =C Vi 7 =D24/D17 =E15+E24
29
3p |Fixed costs =121300%0.1
£} |
32 |Maximum profit =E28 V/
3 out of 3
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)
Candidate 2
Task 1 - Value View
) | D
5 |Sales Revenue N I T | 548,000| V4
6 A
7 |LESS COST OF SALES B e
g8 |Cpening Inventory N _ 4,BDQ )
9 [Purchases B S 249,000
1 10 |Add carriage in 4 2,800 251,800
11 o [ 256,600
12 |Less Closing Inventory - R 10,0000
13 |COST OF SALES o ) 246,800 .
14|GROSSPROFT | 301,400
15 ] o
16 |Less Expenses - 1
17 |[Factory Machinery {160,000%10%)  [L] o 16,000] V4
18 |Trade Recievables (10,000%7.5%) : 4 750}
19 | Advertising {5300+200) 5500| 4 o
20 |Finance Costs 7500
21{Trade Payables © [ E| 120008 -
22 |Insurance | 13,200 v 0
23 |Cash Equivelents - overdraft 2400,
| 24 |Provision for Deprec_idii_on: Factory Mdchiﬂery 27,600 43,600
25 e 257,800
26 |Add income B B
27 |Electricity Received Vi 350 L
28 |Discount Received N v 1,500 1,850
29 |Profit For The Year 259,650

9 out of 13
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National 5 Accounting Assignment 2024

Task 1 - Formula View

Candidate Evidence (annotated)

B | D

1 |PITCH UP 3
2 |INCOME STATEMENT FOR THE YEAR ENDED 31 D
3

P 4 £

' 5 |Sales Revenue sao00 L1 0-
P -
7 |LESS COST OF SALES
8 {Opening Inventory 4800
9 |Purchases 249000
10 |Add cariage in 2800 =B9+B10
11 =C8+C10
12 |Less Closing Inventory 10000 _
13 |COST OF SALES =CI11-C12
14 |GROSS PROFIT =D5-D13
15
16 |L nses
17 |Factory Machinery {160,000%10%) =140000"10%
18 |Trade Recievables {10,000*7.5%) =10000*7.5%
19 |Advertising (5300+200) =5300+200
20 |Finance Costs 7500
21 {Trade Payables 12000
22 |Insurance 13200
23 |Cash Equivalents - overdraft 2400
24 |Provision for Depreciation: Factory Machinery 27600 =SUM(C17+C24)
25 '=D14-D24
26 |Add income : :
27 |Electricity Received 350 .
28 |Discount Received 1500 =C27+C28
29 |Profit For The Year =D25+D28

[A] VA
1 out of 2
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Value View

A ; B C

.1 |PITCH UP i
2 !
3 [RATIO CALCULATIONS FOR YEAR 3
- _
5 {Calculate the following ratios/figures using the data containe
6
7 —
8 |Gross Profit Ratio 55|% V4
9
10 |Average Inventory £7,400| V4
1 '
12 |Rate of Inventory Turnover 33|times V4
13 _ |
14 |Trade Payables Payment Period » 18|days 4 0
15 : _ I
16 |Trade Receivables Collection Period 7|days v4 0
17 :
18 |Current Assets T 213,150 00
19 : i ,
20 [Current Liabilities - £14,400( v41 0 |
21 Y
22 [Current Ratio : -~ 0911 [C]]
23 3 |

. —l
24 |Acid Test Ratio 0.22|:1 [ C][C]

9 out of 14
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Formula View

B

1 |[PITCH UP '

2

3 [RATIO CALCULATIONS FOR YEAR 3

4

5 |Calculate the following rafios/figures U

6

7 .

8 |Gross Profit Rafio . =Income!D14/Income!D5*100

9 :

10 |Average Inventory =(Income!C8+IncomelC12)/2

1 ' : ‘ '

12 |Rate of Inventory Turnover =lncomelD13/Ratios!B10

13

14 |Trade Payables Payment Period =(IncomelC21/IncomelB?)*365 Vi
15| :
'16 |Trade Receivables Collection Period  |=[DatalBl1/IncomelD5)*365

17 y

18 [Cumrent Assets * |=lncomelC18+income!C23+incomelC12 v
19 i 1
20 [Current Liabilities {=IncomelC21+incomelC23

21

22 |Current Ratio =B18/B20 Vi
23 A

24 |Acid Test Ratio ={B18-IncomelC12)/Ratios!B20

4 out of 4
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National 5 Accounting

Task 3 - Value View

PART A

Assignment 2024

Candidate Evidence (annotated)

One possible reason for difference

Ratio Year 2 Year 3.
Current Ratio 2|1 02111 The current asset was changed
0
Gross Profit Ratio 401% 55(% The sales revenue was different
‘ 0
Trade Receivables Collection 30{days 7|days [The credit purchase was on debit
Period 0

PART B
Ratio |One way of improving each ratio
Rate of Inventory Tumover Cost of sales to be higher in price so to gain more profit
. 0
Acid Test Ratio Assets needs to be not aways fixed and change it
~ 0
Trade Payables Payment Period  |Credit purchase to be on debit purchases instead
O out of 6
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)
Task 4 - Value View
A B R D E
1 (PITCH UP
2 |PROFIT CALCULATION ) i
3 |YEAR4 | i
: : ::
5 |[Maximum machine hours available 23,000
6
7 Pod Tunnel Hike
"8 |[Machine hours per unit 2.5 3 2
9 |Selling price per unit £75 £80 £65
10 [Maximum demand (units) 3,600, 3,300 2,800
11 |Variable cost per unif “£35 £44 £304 .
12 . ——
13 Pod Tunnel Hike Total
14 |Machine hours required fo meet i ;
15 |maximum demand | 9,000 9,900 5,600 24,500
16 .
17.|Contribution per unit [ £40.00 £36.00 £35.00] -
18] - |
19 |Contribution per machine hour £16.00 £12.00 £17.50|
20 ! ] '
21 |Order of priority 2 3 1
22 > . .
23 |[Machine hours to be used to |
24 |maximise profits 3,600 3,300 2,800 9,700
25 - ]
26 |Units to be produced 57,600 39.600 49,000
27 ' : 2
28 |Total contribution £640) £432) £613 £1,685
29 ] : ! ;
30 |Fixed costs £12,130
31
32 |Maximum profit ' £23,754.50
3 out of 8
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National 5 Accounting

Assignment 2024

Task 4 - Formula View

Candidate Evidence (annotated)

5 {Maximum machine hours available 23000

6

7 Pod; . Tunnel Hike

8 |Machine hours per unit 2.5 3 2

9 |Selling price per unit 75 80 45

10 [Maximum demand {units) 3600 3300 2800

11 |Variable cost per unit 35 44 130

12 !

13 Pod Tunnel Hike

14 |Machine hours required to meet |

15 |maximum demand =B10*B8 =C10*C8 =DI10*D8 =B15+C15+D15
16

17 |Contribution per unit T =B9-B11 =C9-Cl1 =D9-D11

18 v

19 |Coniribution per machine hour =B17/88 =C17/C8 |=D17/D8 |

20 | )

21 |Order of priority 2 3 1

22

23 |[Machine hours to be used to i

24 [maoximise profits =B15/88 =C15/C8 |=D15/D8 =D24+C24+B24
25| .

26 |Units to be produced =B10*B1% . =C10*C19? =D10*D19

27 i

28 |[Total contribution =B17*B19 =C17*Ci19 [=D17*D19 =R28+C28+D28
29 Vi o
30 |Fixed costs =121300*10%
31 .

32 [Maximum profit |=E15+E24+E28-E30

3 out of 3

SQA | www.understandingstandards.org.uk

Vv

14 of 42



National 5 Accounting

Candidate 3

Task 1 - Value View

e LI I =

(=] oo | on Ln

1
12
13
14
15
16
17
18
19
20
21
22
23
24

9

A

Assignment 2024

E

Candidate Evidence (annotated)

PITCH UP INCOME STATEMENT FOR THE YEAR ENDED 31 DECEMBER YEAR 3

Sales Revenue

Less Sales Returns

Less Cost of Sales

Inventory @ 1 January Year 3
Purchases

Carriage Inwards

Closing Inventory

Gross Profit

Less BExpenses

Advertising

Electricity

Finance Costs

Depreciation

Trade Receivables X 0
Insurance

Salaries

Add Other Income
Discount Eeceived
Frofit for the Year

out of 13

SQA | www.understandingstandards.org.uk

C D E
£ £ £
548,000 VA
0
4,800
249,000
2,800 V4
256,600
10,000 0
266,600
281,400
5300 4
14,350 4, O
7,500
14,000 V4
750 v/
13,200
64750 V4 VA
121,850
X 403,250 0 [A]
1,500 V4
404,750
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National 5 Accounting

Task 1 - Formula View

Assignment 2024 Candidate Evidence (annotated)

A B C D
1 |PITCH UP INCOME STAI
2 £ L £
3 | =DatalA7 =DatalB7
4 |Less Sales Returns 0
5 |Less Cost of Sales
6 =DatalAé =DatalBé
7 |=DatalA8 =DatalBs
g |=DatalA20 =DatalB20
9 =SUM(Cé:C8)
10 | Closing Inventory
11 =C+CI10
12 | Gross Profit =D3-DI11
13  Less Expenses
14 | =DatalAl2 =DatalBl12
15 | =DatalAlS =DatalB15-350
16 |=DatalAlés =DatalBla

17 | Depreciation
12 Trade Receivables X

=DatalB?*10%

=DatalB18
=DatalB1?

19 |=DatalAlg

20 |=DatalAl?

21

22

23 | Add Other Income
24 =DatalAl4

25 Profit for the Year

1 out of 2
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=SUM(C14:C20)
=D12+D2]1

=DatalB14
=D22+0D24
Vi
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Value View

A B C
Gross Profit Ratio 51%
10 |Average Inventory £7,400 VA
11
12 Rate of Inventory Turnover 36|times
13
14 Trade Payables Payment Period 18|days 0
15
16 |Trade Receivables Collection Period 3|days
17
18 |Current Assets £10,750| 0 0
19
20 |Current Liabilities £2,600| v4 O
21
22 |Current Ratio 4.13]:1
23
24 | Acid Test Ratio 10746.15/:1
10 out of 14

SQA | www.understandingstandards.org.uk 17 of 42



National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Formula View

A B C
7
8 |Gross Profit Ratio ‘=|ncome!Dl2;’|ncome!D3*lOO ‘%
9
10 Average Inventory ‘=[Income!Cé+1000O]!2 ‘
11
12 Rate of Inventory Turnover ‘=|ncome!Dl 1/B10 ‘ﬂmes \/1
13
14 Trade Payables Payment Period ‘=DOT01821f[lncome!C?J*SéS ‘doys
15

16 Trade Receivables Collection Period‘=Do’ro!B]UDOTO!B?*40%*36S ‘doys )( 0
17

18 Current Assets ‘=|ncome!Cl8+lOOOO ‘

19 \/1

20 |Current Liabilities ‘=Do’ro!B]3+200 ‘

21

22 Current Ratio |=B18/B20 1

23

24 Acid Test Ratio |=B18-10000/820 1 X o
25

2 out of 4
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)
Task 3 - Value View
Ratio Year2 Yeard |One possible reason for difference in each ratio
Current Ratio 20 4.13[:0 Higher Current Assets in Yeor 3
LC |
Gross Profit Ratio 40(% SNE [They must hawve sold more in Year 3
0
Trade Receivables Collection I0(days Jldays|They are getting the maney in from customers quick
Period in Year 3
0
PARTB
Ratio One way of improving each ratio
Rate of Inventory Tumowver They could have more inventory in their storeroom 0
Acid Test Ratio They could pay off loans and current liabilites v
1
Trade Payables Payment Period |They could pay off trade payabiles more quickly 0
SQA | www.understandingstandards.org.uk 19 of 42



National 5 Accounting Assignment 2024

Task 4 - Value View

Candidate Evidence (annotated)

A B C D E
4
5 |Maximum machine hours available 23,000
B
7 Pod Tunnel Hike
8 |Machine hours per unit 2.5 3 2
3 |Selling price per unit £75 £80 £45
0 |Maximum demand [units) 3,600 3,300 2,800
1 |Wariable cost per unit £35 £44 £30
12
13 Pod Tunnel Hike Total
14 |Machine hours required to meet
15 | maximum demand | ?_.DC}D| ?_.?DD| 5_.6-C}D| 24_.E{}D| Vi
L3
17 |Contribution per unit | £40.00| £36.00] £235.00] VA
13
18 |Contribution per machine hour | £100.00] £108.00] £70.00|
20 0
21 |Crder of priority |2r'|d |15’r |3rd |
22
23 |Machine hours to be used to
24 |maximise profits | ?_.DC}D| ?_.?DD| 4_.1-C}D| 23_.-DC}D|
25
26 |Units to be produced | 2,600 2,200 3,200 0
27
2% [Total contribution | z144000] 2118800  2287.000] £549,800]
29
30 |Fixed costs 0
A

32 |Maximum profit

5 out of 8

SQA | www.understandingstandards.org.uk
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 4 - Formula View

& B C O E
4
5 |Maximum machine hours available 23000
g
7 Pod Tunnel Hike
8 |Machine hours per unit 2.5 3 2
3 |selling price per unit 75 a0 &5
0 | Maximum demand (units) 3500 3300 2800
1 |Variable cost per unit 35 44 30
2
13 Pod Tunnel Hike
1 |Machine hours required to meet
5 |maximum demand [=e10°88 [=ci0°cs [=Di0°D8 [=sum(B15:D135)
6
17 |Contribution per unit [=es-E11 [=co-c11 [=D9-D11 |
12 \/
1 |Contribution per machine hour  [=B17°88 [=ci7°cs [=D17°D8 1 |
20
21 |Crder of priority |2nd |1si |3rd |
22
23 |Machine hours to be used to
24 |maximise profits [=815 [=c1s |=E24-B24-C24 |=85
25
26 |Units to be produced [=e10 [=c1o |=D24°D8 |
27
28 |Total centribution [=B26°817 [=c2e°ci7 |=D2¢°D17 \/1 =SUM(B28:D28)
23

30 |Fixed costs =121400"90%
32 |Maximum profit =E28-E30

Vi

3 out of 3
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National 5 Accounting

Candidate 4

Task 1 - Value View

Assignment 2024

Candidate Evidence (annotated)

A B [& D

1 |PFITCH UP

2 |INCOME STATEMENT FOR THE YEAR ENDED 31 DECEMBER YEAR 3

3

4 £ % £

5 |Sales Revenue ; 548,000

6 |Net Profit 548,000
? T 1
8 |Less: Cost of Sales

9 |Opening Inventory 4,800

10 | Add Purchases 249,000 253,800]

11 |Carraige In 2,800 ==
12 256,600 o
13 |Less Closing Inventory o 10,000] 266,600

14 | Gross Profit 281,400

15

16

17 |Expenses :

18 |Adverfising 5 VA 5,500

19 |Electricity Wy 14,7000

20 |Provision for Bad Debts 750] +

21 [Depreciation 416,000

22 [Trade Payables [ E | 12,000

23 |Salaries 64,750

24 |Finance Costs 7,500

25 |Mortgage 150,000!

26 |Insurance w5 13,2000 284,400

27 ‘ -3,000

28

29 |[Add Income

30 |Discount Received v, 1,500

31 |Other Receivables 350(° 1,850

32 |Profit for the Year | -1,150

Vi

10 out of 13
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National 5 Accounting

Task 1 - Formula View

Assignment 2024

Candidate Evidence (annotated)

A B C D
1 [PITCH UP
2 |INCOME STATEMENT FOR THE YEAR ENDED 31 DECEMBER YEAR 3
3
4 £ £
5 |Sdles Revenue =DatalB?
6 |Net Profit =05
7 H
8 |Less: Cost of Sales
3 |Opening Inventory : =DatalBé
10 [Add Purchases =Datcil B8 =SUM{C?,B10]
11 |Carraige In =DafalB20
12 =SUMIC13:C11}
13 [Less Closing Inventory 10000 =SUM[C12:C13)
14 |Gross Profit =D4-D13
15
16 |
17 |Expenses !
18 |Advertising =DatalB12+200
19 |Electicity , =DatalBl15
| 20 |Provision for Bad Debis [ =(DatalB11/100%7.5) |
21 |Depreciation i =[DatalBF*0.1) ,
22 |Trade Payables =DatalB21 ;
23 |Salaries =DatalB1¥?
24 |Finance Costs =DatalBlé
25 IMortgage =DatalB17
26 |Insurance =DatalB18 =SUM[C18:C28)
27 =D14-D24
28
29 |Add Income
30 |Discount Recelved =DatalBl4
31 |Ofher Receivables =350 I=SUM[C30:C31)
12 |Profit for the Year =D27+D31
v v/
2 out of 2
23 of 42
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Value View

A B C
1_|[PITCH UP —
: RATIO CALCULATIONS FOR YEAR 3 | -
: Calcuiate the following ratios/figures _usigé the data contai
3 - |
8 |Cross Profit Ratio ) 511%
190 Average Invenfory - £7,400] v4
:; Rate of Inventory Tumover 3é[times [C]
13 Trade Payables Payment Period 22|days /,
:: Trade Receivables Collection Period 17|days vi VA
:; Current Assets £164,800 0
;g Current Liabilifies ____ [#152400] o0
2 CurentRafio 1]:1 _ [C]
S Acid Test Ratio — .y 1.02l:1 [C] [C]

10 out of 14
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National 5 Accounting Assignment 2024

Task 2 - Formula View

Candidate Evidence (annotated)

B G
1_|PITCH UP g
; RATIO CALCULATIONS FOR YEAR 3
; Cailculate fhe following rafios/figures u )
g : .
8 _|Gross Profit Ratio =(Income!D14/DatalB7)*100 (%
1% Average Inventory =(10000+DatalBé)/2 wdl
:; Rate of Inventory Turnover =IncomelD13/B10 times
:i Trade Payables Payment Period =DatalB21/(DatalB8%0.8)*365 |days
:: Trade Receivables Collection Period =DatalB11/(DatalB7*0.4)*365 |days
:; Current Assets =DatalBé+DatalB? o
;3 Current Liabilities __=DatalB13+DatalB17 .
; Current Ratio ___ =B18/B20 -
ij Acid Test Ratio =(B18-Income!C13)/B20 -
4 out of 4
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National 5 Accounting

Assignment 2024 Candidate Evidence (annotated)

Task 3 - Value View

PART A
Ratio Year 2 Year3 |One possible reason for difference in each ratio
Current Ratio 21 1]:1 One reason for difference in ratio is there are not enocugh

assets; the number of liabilities is too similar

Gross Profit Ratio 40|1% 511% Another reason for difference in ratio is sales revenue has
increased

Trade Receivables Collection 30|days 17|days |Another reason for difference in ratio is money owed to them

Period is being paid faster

PART B

Ratio

One way of improving each ratio

Rate of Inventory Turnover

One way to improve this ratio is increase selling price and to make sure that too much
inventory is not being stored

Acid Test Ratio

Another way to improve this ratio is to increase sales

Trade Payables Payment Period

Another way o improve this ratio is to minimise sales being made on credit

1 out of 6
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National 5 Accounting

Task 4 - Value View

Assignment 2024

Candidate Evidence (annotated)

A B [ E
1 |PITCH UP £ o ~ ~
2 |PROFIT CALCULATION
3 |[YEAR 4 e e 4
4 - — - -— o —]
5_|Maximum machine hours availdl 23,000 B
6 o .
7 5 ' Pod Tunnel Hike
8 |Machine hours per unit . 3 2
9 |Selling price per unit _%75 __£80 £65
10 |Maximum demand (unis) 3,600 3,300 2,800
11 |Variable cost per unit £35 £44 £30
12
13 : Pod! Tunnel Hike Total
14 [Machine hours required to meet | Vi
15 [maximum demand B 9.000 2.900 5,600 24,500
16 1
17 |Conftribution per unit £40 £36 £35
18 0
19 | Contribution per machine hour £100 £108 £70]
20
21|Order of priority ' 3 1st 3rd
22
23 |Machine hours to be used fo
24 |maximise profits - 9,000 9.900 4,100|c 123,000
25 :
26 |Units o be produced 3,600 3.300 2,050 v
27
28 [Total contribution £144,000 £118,800 £71,7/[C |_£334,550
29 . — g |
30 |Fixed costs - [C|_%£109.170
31 IR ,
32 |Maximum profit ) l £225,380

7 out of 8
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National 5 Accounting

Assignment 2024

Task 4 - Formula View

Candidate Evidence (annotated)

PITCH UP

PROFIT CALCU |

YEAR 4

Maximum mc

123000

DI W N[

Machine hou

25

Pod|

Hike'

o

Selling price ¢

75

—
o

Maximum dei

3600

-
-

Variable cost

35

-
n

—
w

Pod

Tunnel

Hike

Total

Py
&

Machine houf

—
w

maximum de|

=B8*B10

=C8*Cl10

=D8*DI0

=SUM(B15:D15)

—
o

i
~

Contribution

=B9-B11

=C9-Cl1

=D9-D11

—_
o«

-
w

Contribution ¢

=B17*B8

=C17*C8

=D17*D8

N
o

~
pary

Crder of priori

2nd

1st

3rd

N
n

o]
w

Machine houT

—

n
kS

maximise prof

=B15

=C15

[=85-824-C24

=SUM(B24:D24)

n
w

n
o

Units fo be prc

=B10

=C10

=D24/D8

n
~

n
o

Total contribu

=B17*B26

=C17*C26

=D17*D26

=SUM(B28:D28)

3

w
o

Fixed costs .

=121300-{121300%*0.1)

w
—h

w
N

Maximum pro

3 out of
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National 5 Accounting

Candidate 5

Task 1 - Value View

Assignment 2024

Candidate Evidence (annotated)

A B C D
1[PICHUP .
2 |INCOME STATEMENT FOR THE YEAR ENDED 31 DECEMBER YEAR 3
3
2 o % 3 £
1 5 |Sales Revenue 548,000| V4
6 |Net Sales o 548,000
- ) et
; . _
9 |Cost of Sales
10 {Opening Inventory 4,800 -
11 {Purchases " 249,000
12 [Closing Inventory 0 10,000] X -
13 263,800
14
15 |Expenses
16 |Eleciricity - 15050 Vi
17 |Mortgage |L“ 0 150,000 -
18 {Insurance 13,200
19 |Salaries 64,750 v/
20 |Advertising 5,500 V4
21 |Cash Equivalents - overdraft 2,400
22 o 250,900
23 o
24 | Gross Profit 0 297,100
25
26 |Add other income
{ 27 |Cariage Inwards - 2,800] 0
28 |Discount Received o 1,500 V4 ____"
29 |Finance Costs 7,500/ 0
30 [Trade Receivables ~ 750| 0
31 |Trade Payables 12,000
32 24,550 o
33 [PROFIT FOR THE YEAR 869,650

5 out of 13
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Candidate 5

Task 1 - Formula View

FITCH UP

INCOME STATEMENTFORTHE

- B s —— L e 4 — e e ey ] e

Soles Revenue =Datale?

Met Sales . |=Datale7

- = = — . . - r—

Cost of Sales

Opening Invenlory ) =Dataldé

Purchoses sDolalds

Closng Invenlary . 10000

=C11:C12+C10

ElSIRIZIE e le =~ jo fun e faur o | = |

15 | Expanses

16 |=DatalAlS =DwalalB 154350

17 |=Doatal AL 7 elratalkl 7

18 |=Datal 18 =DalalBiB 7

19 [=Datg|Al? =DofalEl?

20 |=DatalAl12 =DalalBl 24200, | . 0

21|=Datalal3 =Dotalbla X1~

iz =@ 14+ 17+B18+B17+B

23

24 | Gross Prodil =0&-C22

28 |Add olherincome

|
i
|
5 \
\
\

27 |=Datal AZ0 |=Datald2n

28 |=DatalAl4 =Dolalll4

25 |=DatalAlé |=Dataltié

36 |=DalalAT] ) ¥ |=DolalB11*7.5%

31 |=DatalA2] =DalalB2]

32 | . =C7+C28+C294+CI0H .

33 |PROFIT FOR THE YEAR | T |=pésDi4rcaz

1 out of 2
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National 5 Accounting

Task 2 — Value View

Assignment 2024

Candidate Evidence (annotated)

- A B C
1 |PITCH UP
2.
3 |RATIO CALCULATIONS FOR YEAR 3
4 .
5 |Calculate the following ratics/figures using the data containec
6 | :
7
8 |Gross Profit Ratio 54|% [C|
9
10 |Average Inventory £7.400| Vi
1| | )
12 |Rate of Inventory Turnover 34|times” [C]|
13
14 [Trade Payables Payment Period 438|days 0 |0
15
16 |Trade Receivables Collection Period 1|days 0
17
18 |Cumrent Assels £11.2500 0 0 |
19 .
20 |Current Liabilities £226350f 0 0 '
21
22 |Current Ratio 2012111 0
23 .
24 |Acid Test Ratio 2000 00O

4 out of 14
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National 5 Accounting Assignment 2024

Task 2 - Formula View

A B

1 |PITCH UP

2

3 |RATIO CALCULATIONS FOR YEAR 3

4

5 {Calculate the following ratios/figures using
6

77

8 |Gross Profit Ratio =incomelD24/Incor%

9 .0
10 |Average Inventory =(IncomelC10+Incg -

11 )

12 |Rate of Inventory Turnowver =lncome!C13/Ratioftimes
13 o
14 {Trade Payables Payment Period =lncomelC31/incordays
15

16 |Trade Receivables Collection Period =lncome!C30/Incorndays
17

18 |Cumrent Assets =lnzomelC3]-Incor 0
19 .

20 |Current Liabilities =IncomelC22-Incor

21

22 |Current Ratio =B20/B18 :1

23 . 0
24 | Acid Test Rafio 2 - H |

O out of 4
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National 5 Accounting

Assignment 2024 Candidate Evidence (annotated)

Task 3 - Value View

PART A
Ralio Year 2 Year3 |One possible reason for difference In each ratlo
Current Rafio 210 20,1020 Higher Selling Price
Gross Profit Ratlo 40]% 2% Mo Inventory Held
0
Trode Receivables Collection I doys 1 jdays |Paying Suppliers
Period 0

PART B

Ralic

“|One way of Impreving each ralio

Rale of Inventory Tumover

lincrease the seling price

Acid Test Ratio

iowar cast of p-il:es

0

Trade Payables Paymen! Perdod

|Reduce Craedit Sales

O out of 6
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)
Task 4 - Value View
A B l C 5] E
1 [PITCHUP
2 |PROFIT CALCULATION
3 |YEAR 4 '
4 I
5 [Maxirmum maching hours available 23,000}
a .
T Pod Tunnel! Hike
& |Maching hours per unit 2.5 3 2
3 |Seling price per unit £75 £80 £45
10 |Maximum demand [units) 3,600 3,300, 2,800
11 |Variable cost per unit | £35 £44° £30
12 ! I '|
13 - Pod! Tunnel Hike Total
14 [Machine howrs required to meet | _
15 [maximum demand 188 240 130 558| 0
16 :
17 |Coniribution per unit £40.00] £36.00 £3500] £111.00] 4
18 |
13 |Contribution per maching hour £3,565.00 £3,256.00 £2,770.00 0
20| : .
21 |Order of pricrity - £3,525.00 £3,220.00 £2,735.00 0
22 i |
23 iMachine hours to be used to
24 Imaximise profits .
25 {
26 |Units to be produced |
27 |
28 |Totol contribution
29 i ;
30 |Fixed costs ! | #2130 O
31 i !
32 |Maximum profit | i
1 out of 8
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)
| [4 [ E

1 |PITCH UP

2 |PROFIT CALCULATIO

3 |YEAR 4

4

5 (Maximumn machine | 23000

[

7 Pad Tunnel Hikee
| & [Machine houws pari |2.5 3 2

5 [Seling price perund |75 A0 45

10 |Modmum demand | 3500 3300 2800

11 |Vorable cost per ur "35 44 30

12

13F Pod Turnel Hike

14 [Wiachine hows reql

13 [mammum demand [=E8*87 =CB'CH =OEDY =01 5+C15#B15
16 \/1

17 [Cenlibution perun [=pF-B11 =001 =CF-CH 1 =D 7+CIT+R17
8

19 |Conlibution per me (=2 10811 =CI10-Z11 = 10011

a0 .

21 |Orcler of pricdiby =B19-817 =C19-C17 =D1#-017

22

23 |Mochine hows ta b 0

24 |moxinnise profits

25 )

26 (Units fo be proguce

o

28 | Total confribution

0

20 |Fied cosls J 4 =121300*10%
31 ]

12 | Maimum profl |
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National 5 Accounting

Assignment 2024

Candidate 6

Task 1 - Value View

woo0a = o o B W =

= [=a [=x [=2 [=
oW = O

1

[ T % O % TR 5 TR S S Oy
LN I S S - R ¥ o < B I o T ¥

5

Candidate Evidence (annotated)

A B C D E
PITCH UP INCOME STATEMENT FOR THE YEAR ENDED 31 DECEMBER YEAR 3
£
Sales Revenue 548,000 4
Less Cost of Sales
Inventory @ 1 January Year 3 4,800
Purchases 249,000
253,800
Closing Inv 10,000 v
243,800
0 304,200
Less Expenses
Advertising 5500 v1 0 0
Finance Costs 7,500
Depreciation - Machinery 27,600 0
Cash & Cash Equivalents - Overdraft 0[E ]| 2,400
FED 7,500 0
Salaries &4, 750 Vi 0
115,250
188,950
Add Other Income
Carriage Inwards 2800 O
Discount Received 1,500 /4
Profit for the Year 193,250

out of 13
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 1 - Formula View

A B C
1 |PITCH UP INCOME STATEMENT FOR THE YE
2 £
3 |=DatalA7 =DatalB7
4 |Less Cost of Sales
5 |=DatalAs =DatalBs
6 |=DatalA8 =DatalBs
7 =SUM(C5:C4)
& | Closing Inv 10000
9 243800 X 0
10 =C3-C9
11 |Less Expenses
12 |=DatalAl2 =DatalB12+200
13 |=DatalAlé =DatalBlé
14 | Depreciation - Machinery =DatalBI0
15| Cash & Cash Equivalents - Overdraft =DatalBI3
16 [PBD =DatalB11%0.75
17 |=DatalAl9 =DatalB1?
18 =SUM(C12:C17)
19 =CI10-Cl8
20 Add Other Income
21 =DatalA20 =DatalB20
22 =DatalAl4 =DatalBl4
23 Profit for the Year =CI19+C21+C22
V4
1 out of 2
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National 5 Accounting

Task 2 — Value View

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24

Gross Profit Ratio

Average Inventory

Rate of Inventory Turnover
Trade Payables Payment Period |

Trade Receivables Collection Period |

Current Assets

Current Liabilifies

Current Ratio

Acid Test Raftio

7 out of 14
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Assignment 2024

Candidate Evidence (annotated)

56|%

£9,800]

31 ‘ﬂmes 0

44|days 0

B‘doys 0

£23900] V4 O

£172300, 0 0

0.14]:1

0.08/:1 [C]0
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 2 - Formula View

A B
7
8 Gross Profit Ratio ‘=|ncome!ClOflncome!CS"‘]OO %
9 -
10 Average Inventory ‘=|ncome!CS+lncome!CB/‘2 X0 —|
11
12 |Rate of Inventory Turnover ‘Zlncome!ClO;‘BlO |T|'mes
13
14 Trade Payables Payment Period ‘ZDOTO!BQ]/{Income!Cé*le%J*Sés |doys
15 V4
16 Trade Receivables Collection Period ‘ZDOTO!B] 1/(DatalB7*80%)*365 |doys
17
18 | Cutrent Assets ‘ZDoTolBl T+IncomelC8+incomelCl 5+Ir1
19 0
20 |Current Liabilifies ‘=DOTOIB?]+DOTOIB] 7+Incomel(213+lnc|
21
22 Current Ratio =B18/820 B
23 VA
24 Acid Test Ratio |=(B18-B10)/B20 B
25

2 out of 4
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 3 - Value View

PART A
Ratio Year 2 Year 3 One possible reazon for difference in each ratio
Current Ratio 21 0.14 | :1 In year 2 they had higher current assets
Vi
Gross Profit Ratio 40 % 56| % In year 2 they might have sold their goods for less or
had a sale \/
1
Trade Receivables Collection 30| days & | days | In year 2 they might have allowed their customers a
Period longer time to pay the money they owe them so
customers would buy from them.
Vi
PARTE
Ratio One way of improving each ratic
Rate of Inventory Turnover They might buy more inventory to get a higher ratio
0
Acid Test Ratio They might sell assets to get more cash 0
Trade Payables Payment
Period 0

3 out of 6
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National 5 Accounting

Task 4 - Value View

A

= h B

[==]

Machine hours per unit
selling price per unit

10 |Maximum demand [units)
11 |Variakle cost per unit

12

13

(Y=]

14 |Machine hours required to meet

15 |maximum demand
16

17 | Contribution per unit
18

18 | Contribution per machine hour

20

21 |Order of pricrity

22

23 |Machine hours to be used to
24 |maximise profits

25

26 |Units to be produced

28 |Total contribution
29

30 |Fixed costs

£y

32 | Maximum profit

4 out of 8
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Maximum machine hours available

Assignment 2024 Candidate Evidence (annotated)
B C D E
23,000
Pod Tunnel Hike
2.5 3 2
£75 £830 £65
3,600 3,300 2,800
£35 £44 £30
Pod Tunnel Hike Total
| 9,000 9,900 56000 24,500
’
| £110.00]  £124.00] £95.00] !
| £44.00| £41.33 £47.50]
| 2] 3| 1]
| 22,500| 29,700 11,2000  63,400| O
| 9,000 9,900 5,600
| £396,000] £409,200] £266,000[£1,071,200] O

[ £109.170] VA4
[£1.180.370] 0
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National 5 Accounting Assignment 2024 Candidate Evidence (annotated)

Task 4 - Formula View

A B c D E
E

5 |Maximum machine hours available 23000

&

7 Pod Tunnel Hike

8 Machine hours per unit 2.5 3 2

9 Selling price per unit 75 80 &5

10 | Maximum demand [units) 3500 3300 2800

11 Variable cost per unit 35 44 30

12

13 Pod Tunnel Hike Total
14 | Machine hours required to meet

15 | maximum demand [=B10°B8 [=ci0°ca [=D10°D8 |=5UM(B15:D15]
16

17 |Contribution per unit [zBo+B11 [=co+ci1 [=De+D11 \

18

19 |Contribution per machine hour  [=B17/88 [=ci7/ca [=D17/D8 \ \/1

20

21 |Order of pricrity |2 |3 |1 ‘

22

23 | Machine hours to be used to

24 | maximise profits [=B15°B8 [=c15°ca [=D15°D8 |=sUM(B24:D24]
25

26 |Units to be produced [=B24/88 [=cou/ca [=D24/D8 \

27

28 Total contribution [=B26°B19 [=cos*cio [=D2¢°D19 |=sum(B28:D28]
29

30 |Fixed costs % ‘:121300‘9[}%
#

32 Maximum profit |=E28+E30

Vi

3 out of 3
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